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unit Unit1;
Interface

uses
Windows, Messages, Systtils, Classes, Graphics, Controls, Forms, Dialogs,

StdCirls, ComCiris, ExtCirls, Menus, Buttons,ShellApi,Math, jpeg, Async32;

Type

TForm1 = class(TForm)
Memo2: TMemo;
Memo3: TMemo;
MainMenu1: TMainMenu,
File1; TMenultem;
Clear1: TMenultem,

N1: TMenultemn;

Exit1: TMenuttem;
OpenDialogt; TOpenDialog;
listBox1: TListBox;
Memod: TMemo,
Memo5: TMemo;
Memos: TMemo;
Memo?7: TMemo;
Memo8: TMemo;
Panel5: TPane!;

Label3: TLabel;

Labeld: TLabel,
GroupBox1: TGroupBox;
l.abel1: TLabeI;

Label2: TlLabel;

Panelt: TPanel;

Panel2: TPanel;
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TrackBar1: TTrackBar,

Panel3: TPanel;

Paneld: TPanel;

ScrollBar1: TScroliBar,

Machine1: TMenuttem;

Setup1: TMenultem;

Status1: TMenultem;

N2: TMenultern;

Drillt; TMenultam;

Memo1: TMemo;

MemoS: TMemo;

Memo10: TMamo;

Memo11: TMemo;

Edit1; TEdit;

Labels: TLabel;

Opent: TMenultent;

procedure Open1Click(Sender. TObject);
procedure Clear1Click(Sender. TObject);
prosedure TrackBariChange{Sender: TObject};
procedure ScrollBar1Changs(Sender: TObject);
procedure Exit1Click(Sender: TObject),
procedure Button1Click(Sender: TObject),
procedure ProtelMicrosim1Click(Sender: TObject),
procedure Setup1Click{Sender: TObject);
procedure Status1Click(Sender: TObject);
progedure Drill 1Click{Sender: TObject),
precedure FormBDestroy(Sender: TObject),

private

{ Private declarations }
public

{ Pubiic declarations }

end;
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var

Form1: TForm1,

function FiveStr{strings: string):string;

funetion Tovall{stringlstring).integer;

function mil_to_step{mess:string):string;

procedure Drawimage(valx,valy,centx,centy:integer);

implementation
uses Unpit2, Unit4, Units, Unit3;
{3R *.DFM}

procedure TForm1.CpeniClick(Sender: TObject);

var i,p0Sz,p0SX, POSXXX,POSyyy, posy. post, posdot, posper, posm30, posm48:integer;
stringline, stringfile, stMem8, strx, stry:string; '
toolsize, vabox valyyy lineMem&:integer,

k.n,pjiinteger;

ss,|,m:string;

holenum, posxx,posyy,postit,valx,valyinteger,

XX, XXX, YV, YV, Stx sy, stringx, stringy: string;

lineMem7 lineMem8,minx,miny, maxx,maxy:integer,

scenx,sceny,stMem7 stMem?7, stMem8, stMem&88:string; |
a,b,cd.efghinteger;

xcenter,Ycenterextended,

tool_mem4:integsr,

begin
tool_mem4.=0;
valxxx:=0;
vahyyy: =G,
toolsize:=0;
Memo?2.clear;

Memo8.clear;
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Memao9.clear;
Memo10.clear;
Form5.Memo1.Clear;
FormS.Memo2.Clear,
if OpenDialog1.Execute then
begin
Memo1.Lines. Load'FromFile(Opendiang1 filenamey;
Edit1.Text:=CpenDialog1.FileName; .
stringfile:=Memo . text;
posx=pos('X' stringfile);
posy.=pos{"Y" stringfil);
post=pos('T'stringfile);
posdoti=pos(’.'stringfile);
posper:=pos(‘%' stnngfile);
posm30:=pos('M30' stringfile);
posmd8:=pos('M48' stringfile);
if (posx<>0Jand(posy<>0)and{post<>0)and(posdot<>0Yand(posper<>0)and
(posmd8<>Mand{posm30<>0) then
begin
for =0 to Memo1.Lines.count-1 do
begin
stringline:=Memo1.Lines[i};
posx:=pos (X' stringline);
posy:=pos('Y" stringline);
post=pos('T' stringline);
posdot=pos(*.',stringline};
posm30:=pos(‘M30',stringline);
posz.=pos('Z' stringline);
ff(post<>0)and(posdot<>0)then
begin
ListBox1.ltems.Add(copy{stringline, 1,20)),
toolsize:=toolsize+1;

end;fendiad LITHRLIBAILNATENOO!
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H({{post<>0)and(posdot=0)and(posz=0))then
begin
Memo2.Lines.Add(InttoStr(i));
Mermog. Lines. Add(InttoStr(tool_memd4));
Mermod4.Lines Add(stringline);
Memo6.Lines.Add (stringline);
tool_rmem4:=tcol_mem4+1,
end;/lantITTinLUDAtool A6
if(posx<>0jor(posy<>0jthen
begin
ff(posx<>0)and(posy<>0)then
begin
stx;=FiveStr(copy(stiingline, posx+ i, posy-posx-1));
sty.=FiveStr(copy(stringline,posy+1.5));
valxxx:=StrTolnt(six);
valyyy:=StrTolnt(sty);
MemoB,Lines Add(X'+IntToStr(vaioc)+Y '+ IntToStr(vahwy)),
xxx:=mil_to_step(stx),
yyy:=mil_to_step(sty),
Memod.Lines Add(X'+xxx+"Y'+ywy):
end;
i (posx<=0)and(posy=0) then
begin
stx;=FiveStr(copy(stringline, posx+1,5));
vaixxx:=5StrTolnt(stx);
Memot.Lines Add (X +IntToStr(valxxx)+" " +IntToStr(valyy))
xxx:=mil_to_step(stx);
Memo4. Lines Add("™X"+xxx+'Y"+yyy);
ff Memod. Lines. Add("™X"+xxx),

end,
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tf(posx=0)and{posy<>0)then
begin
sty:=FiveStr(copy(stringling,posy+1,5));
valyyy:=5StrTolnt{sty);
Memob.Lines. Add(X'+IntToStr(valxxx)+Y ' +IntToStr{valyy));
wy:=mil_to_step(sty);
Memod.Lines. Add(X'+xxx+7Y'+yyy):
/I Memod.Lines. Add("Y '+ywy);
end;
tool_mem4:=too|_mem4+1;
end,
if(posm30<>0)then
begin
Memo@.Lines Add(InttoSir(tool_mem4)),
Memo?2.Lines. Add(inttoSir(i));
tool_mern4:=tool_mem4+1;
end;

end:;//ALLISTAA 12 Memo 1

ScrollBar1.Enabled:=true;
TrackBar1.Enacted:=true;
TrackBar1 Max:=toolsize;
Memo3.Clear;
k:=TrackBar1.Position-1;-
l:=Memo2.Lines[k];
m:=hMemo2.Lines[k+1];
n:=3trTolnt());
p:=5trTolnt{m);
for jj=(n+1}to (p-1)do
begin
ss:==Memo1.Lines{jj];
Memo3.Lines.add(ss);

end;




ScrollBar1.Max:=Memo3.Lines.Count-1;
holenum:=scrollBar1.Position;
posxx:=pos{'X' Memo3d. Lines{holenum]);
posyy:=pos('Y' Memo3,Lines[holenuml);
if (posxx<>0)and(posyy<>0jthen
begin
xx:=copy(Memo3.Lines[holenum],posxx+1, posyy-posxx-1);
stringx=FiveStr{xx);
valx:=Tovall(stringx);
vy.=copy(Mema3.Lines[holenum], posyy+1,20),
~ stringy:=FiveStr(yy),
valy:=Tovall{stringy);
Panel1.Caption:=IntToStr(valx)+'mif";
Panel2.Caption:=IntToStrivaly)+'mil’;
end;
if (poskx<>Mand(posyy=0)then
begin
xx:=copy(Memc3.Lines{holenum), posxx+1,20);
stringx=FiveStr{xx);
valx;=Tovall(stringx),
Panrell.Caption:=IntToStr(valx)+'mil’;
end,
i (posxx=0)and(posyy<=0jthen
begin
yy.=copy(Mermo3.Lines[holenum], posyy+1,20);
stringy. =FiveStriyy);
valy:=Tovall(siringy);
Panel2.Caption:=IntToStr{valy)+'mil";
end;
Panel3.Caption;=InttoStr(TrackRar1, Position),
Panel4.Caption:=InttoStr(ScrollBart.Position+1);
Mermo7 . Clear;

Memao8.Clear,
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for lineMem6:=0 to Memo6.Lines.Count-1 do
begin

stMem6:=Memob.L inss{ lineMem6];

posx:=pos{'X' stMems);

posyyy:=pos("Y' stMems);

postit=pos('T' stMemt);

if ((posxx<>0)or(posyy<>O))and(posfrt=0)then

begin

strc=copy(stMemB, posxxcd+ 1, posyyy-posxxx-1);
stry:=copy(stMemB, posyyy+1,5);
Memo7.Lines.Add(strx);
Memo8.Lines.Add(stry);

end;

end;
stMem?:=Mema? LinesfO];
a:=StrTolnt(stMem7);
¢;=StrTolnt(stMem7);
for lineMem7:=1 to Memo7.Lines.Count-1 do
begin
stMem?7:=Memao7 Lines[lineMem7};
b:=StrTolnt(stMem77);
d:=StrTolnt(stMem77);
a=Max(a,b);
c=Min(c,d);
end;
maxx.=a;
minx:=c;
Xcenter=((maxx+rminx)/2)*(96/1000),//(26035/1000000);
Memo7.clear,
str(Xcenter:0:.0,scenx);
Memo7 Lines Add{scenx);
Memo7 Lines.Add(ImToStr{manx));
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Memo7 . Lines Add{IntToStr(minx)};
stMem8:=Memao8.Lines[0];
e:=3trTolnt(stMem8);
g:=3trTolnt(stMem8s),

for lineMem8&:=1 to Memo8.Lines.Count-1 do

begin
stMem88:=Mamo8.Lines{lineMamgl;
f:=StrTolnt(stMem88);
h:=StrTolnt(stMemas);
e:=Max(e )
g:=Min(g,h},

end;

maxy.=e;

miny:=g;

Yoenter:=((maxy+miny)/2)*(96/1000)/(96035/1000000);

Memo8.clear,
str(Ycenter:0:0,sceny);
Memo8.Lines.Add(scenyy;
Memo8.Lines. Add(IntToStr{maxy));
Memod.Lines Add{IntToStr(miny});
TR H Y
end ffend if —>iTlu file gtaz
else
begin
Memo1.Clear;
beep,
ShowMessage('lalld & g1a12);
MemoZ.Clear;
Memo3.clear;

ListHox1.Clear;

end;
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end; /fopendialog

if Memo1.Lines.Count >7 then

begin
Memo10.Clear;
Form1.Button1Click{sender);
Forn";2.Label2. Font.Color=ciMenu;
setup1.Enabled;=true, ‘
status1.Enabled:=true;
clear1.Enabled:=true;

end;
end;

procedure TForm1.CleartClick(Sender: TObject);

begin
Memo1.clear;
Memo2.clear;
Memo3.clear;
Memod.clear,
MemoS.clear;
Memo6.clear;
Memo7.clear,
Memo8.clear,
Memo8.clear;
Memo10.clear;
FormS.Memo1.Clear;
Form&.Memo2.Clear,
ListBox1.Clear;
TrackBar1.Position:=1;
TrackBar1.Enabled:=false;
ScrollBar1.Enabled:=false;

ScrollBar1.Position:=0;
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Panel1.caption:=",
Panel2.caption;=";
Panel3.Caption:=",
Panel4.Caption:=",
refresh;
end;
procedure TForm1 .TrackBar1Change(Sender: TObjeot),
var
k.n,p,jiinteger;
ss,t,m,str]ngx, stringy, xx,vy: string;
hatenum,posxx, pasyy,valx, valy.integer;
begin
ScrollBar1.Position: =0,
© Memo3.Clear,;
k:=TrackBar1,Position-1;
li=Memo2.Lines{k];
m;=Memoz.Lines[k+1];
n:=StrTolnt{l}),
pr=StrTotnt(m);
for ji.=(n+1)to {p-1)do
begin
ss:=Memal.Lines(jj};
Mermno3.Lines.add(ss);
end;
ScrollBari Max=Memo3.Lines.Count-1;
holenum:=scroliBar1.Position;
posxx:=pos('X' ,Mernc3.Lines[holenum]);
posyy.=pos('Y' Memao3.Lines[halenum]);
if {posxx<>0)and(posyy<>0) then
begin
xe=copy(Mema3.Lines[holenum], posxx+1, posyy-posxx-1);

stringx:=FiveStr(x);
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valx:=Tovall(stringx).
yv.=copy(Memo3.Lines[holenum],posyy+1,20);
stringy-=FiveStriyy);
valy:=Tovall(stringy);
Panel .Caption:=IntToStr{valx)+'mil";
Panel2.Caption:=IntToStr{valy)+'mit";
end;
if (posx<>0)and(posyy=0)then
begin
xx:=copy(Memo3.Lines[holenum],posxx+1,posyy-posxx-1);
stringx:=FiveStr(xx);
valx:=Tovali(stringx);
Panelt.Caption:=IntToStr(valx)+'mil’,
end;

if {posxx=0)and{posyy<>0)then

begin
vy.=copy(Memo3.Lines[ holenum), posyy+1,20);
stringy.=FiveStriyy),
valy:=Taovall(stringy);
Panel2.Caption:=IntToStr{valy)+'mil’;

end;

Panel3.Caption:=InttoStr{TrackBar1. Position);
Panel4.Caption:=InttoStr(ScrollBar?. Position+ 1};

end;

procedure TFormt.ScroliBar1Change(Sender: TObject);

var
%X, yy.stringx, stringy:string;
valx,valy:integer;
holenum, posxx, posyy. integer;
begin
holenum:=scroliBar1.Position;

posxx:=pos('X' Memo3.Lines{holenum]);
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posyy.=pos("Y' Memo3. Lines[holenum]);
if (posxx<>0)and(posyy<>0)then
begin

xx:=copy(Memo3.Lineslholenum],posxx+1,posyy-posxx-1);

stringx:=FiveStr(xx);
valx;=Tovall(stringx};
yy:=copy(Memo3.Lines{holenum],posyy+1,20);
stringy:=FiveStr(yy);
valy:=Tovall(stringy);
Panel1.Caption:=IntToStr{valx)+'mil";
Panel2.Caption:=IntToStrivaly)+'mil’;

end;

if (posxx<>0)and(posyy=0)then

begin
xx:=copy(Memo3. Lines[holenum], posxx+1,20);
stringx:=FiveStr(xx);
valx:=Tovall(stringx);
Panell1 . Caption:=IntToStr{valx+'mil';
end; -

if (posxx=0)and(pasyy<>0)then

begin
yy:=copy(Memo3.Lines[holenum],posyy+1,20);
stringy: =FiveStriyy),
valy:=Tovall(stringy);
Panel2.Caption:=IntToStr{valy)+'mil’;

end;

Panel3.Caption:=InttoStr(TrackBar1, Position);
Paneld.Caption:=InttoStr(Scrol'Bar1. Position+1);

end;

function FiveStr(strings:string):string;
var len:integer,

begin
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len:=length(strings),

if len<5 then
begin
while len<5 do
begin
strings.=strings+'0’,;
len:=length(strings);
end;
end;

if (len>=5)then
begin
strings:=copy(strings, 1,5},
end;
result=strings;

end;

functlon Tovali(stringl:string}.lnteger;
var a0,al,a2,a3,a4 sumainteger,
begin
a0:=3hTolnt(copy(string!,5,1)};
al:=StrTolnt(copy(stringl 4, 1)};
a2:=StrTotnt{copy(stringt,3, 1)),
ad:=StrTolnt{copy(stringl,2,1));
ad:=StrTolnt{copy(stringl,1,1));
suma;=(a0)+(10*a1)+(100"a2)+(1000*a3)+{1000C"a4);
result=suma;

end,

procedure TForm1.Exit1Click(Sender: TObject),
begin

Application.OnException;=nil;

Close;

end,;
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function mil_to_step(mess:string):string;
var
valmil:extended;
strstep:string;
mil:integer;
begin
mif:=StrTolni{mess),
valmil;=mil*(127/5000)*(1000/261);
Str{valmil:0:0,strstep);
result:=strstep,

end;

pracedure Drawlmage{vaix,valy,centx,centy:integer);
var
XX, Yy . Xmax,ymax,xminyrmin:exiended;
XY X1,Y1 X2 Y2, %_max,x_min,y_max,y_min:integer;
sX1,5X2,sY1,8Y2,ax,ay,axmax, axmin,aymax aymin:string;
begin
xx:¥valx*(96/ 1000);//(8603%/1000000);
yy: =valy*(96/1000),/(96035/1 000000);

xmax:=(StrTolnt{Form1.Memc7 . Lines[1]))*(26/1000),/(96035/1000000);
)

|
ymax:=(StrTolnt{Form1.Memo8.Lines{1]))*(26/1000);,/(96035/1000000);
xmin=(StrTolnt(Form1.Memo7.Lines[2]))*(26/1 000),/(26035/1000000);
ymin:={StrTolnt(Form1.Memo8.Lines[2}))*{96/1000):/(96035/1000000),
strixx:0:0,ax%);

striyy.0:0,ay);

X:=3trTolnt(ax),

Y:=StrTolnt(ay),

str{yman:0:0,aymax);
str{ymin:0:0,aymin);

str{xmax:0:0,axmax);
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str(xmin:0:0,axmin);
y_max:=600-(StrTolnt(aymax)+centy}-20;
y_min:=600-(StrTolnt(aymin)+centy)+20;
x_max:=StrTolnt{axmax)+centx+20;
¥_min:=StrTolnt(axmin)+cent-20;
X:=5trTolnt(ax);

Y:=5trTalnt(ay);

X1:=X-2+centx{+200} X2:=X+2+cent{+200});
Y 1:=600-Y-2-centy{-200},Y2:=600-Y+2-centy{-200};
Form2.Canvas.pen.color=clLime;
Form2.Canvas.MoveTo(x_min,y_min);
Form2.Canvas.LineTo(x_max,y_min};
Form?2.Canvas.LineTo(x_max,y_mawx);
Form2.Canvas.LineTo(x_min,y_max),
Form2.Canvas.LineTo(x_miny_min);
sX1:=IntToStr(X1);
X2 =IntToStr(X2);

sY1:=IntToStr(Y 1),

sY2:=IntToStr(Y2);

with Form1 do
begin
Memo5.Lines.add{'X'+ax+"Y'+ay);
end;
Form?2.canvas.pen.color=clRed;
Form2.canvas.arc(X1,¥Y1 X2,Y2,0,0,0,0),
Formt.Memao10.Lines. Add('a'+sX1+'D'+sY1+'C'+sX2+'d'+5Y2),

end;

procedure TForm1.Button1Click(Sender: TObject);
var stringline,stx,sty:string;

post, posx,posy.i,intx,inty:integer;
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scentx scenty:string;
Xcenter xxminoanax, yymin,yymax, Yeenter.integer,
begin
Form2.Show,
MemoS.Clear;
scentx;=Memo?.Lines[0];
xxmax:=StrTolnt(Memo7?.Lines[1]);
xxmin:=StrTolnt(Memo?. Lines[2]);
scenty:=Merno8.Lines[0];
yymax;=3trTolnt(Memo8.Lines[ 1]}
ywmin:=StrTolnt(Memo8.Lines[2]).
canvas.Pen.color=ciLime;
Xeenter:=400-StrTolnt(scentx);
Ycenter:=3008trToInt(scénty):
far i:=0 to Memos.Lines Count-1 do
begin
stringline:=Mermos Lines[i];
posx.=pos{’X' stringline);
posy:=pos(’Y" stringline);
post=pos('T' stringfine);
if {posx<>Q)or(posy<>0jthen
begin
stx:=copy(stringline,posx+ 1, posy-posx-1);
sty:=copy(stringline, posy+1.5);
intx:=StrTolnt(sk);
inty:=StrTolnt(sty);
Drawtmage{intx,inty, Xcenter, Ycenter),
end;
if (post<>0jthen
begin
Merno5.Lines.add(stringline);,

Memo10.Lines. Add{IntToStr(i))
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end;
end;
Memo10.Lines. Add(IntToStr(i});

end;

procedure TForm1,ProteMicrosim1Click(Sender: TObject):
var stringline,stx,sty:string;
post, posx, posy,i,intx,inty:integer;
scentx,scenty:string;
Xcenter,xxmin, xxmax, yymin,yymax,Ycenterinteger;
begin
Form2.Show,
Form1.Hide;
Memob.Clear,
scentx:=Memo7.Lines[0];
xxmax.=StrTolnt(Memo7.Lines[11);
xxmin:=StrTolntMMemo7.Lines[2]);
scenty:=MemoB.Lines[0];
yymax;=StrTolnt(MemoB.Lines[1]);
yymin:=StriointMemo8.Lines[2]};
canvas.Pen.color=clLime;
Xecenter:=400-StrTalnt{scentx);
Y center:=300-StrT olnt(scenty);
for i:=0to Memo&.Lines.Count-1 do
hegin
stringline:=Memog,Linesfi];
posx:=pos('X' stringline};
posy:=pos('Y',stringline);
post.=pos('T',stringline);
if (posx<>Qjor(posy<>Qjthen
begin
stx:=copy(stringling, posx+ 1, posy-posx-1);

sty:=copy(stringline,posy+1,5);
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inbe=StrTolnt{stx),

inty:=StrTolnt(sty};

Drawimage(intx, inty Xcenter,Ycenter);
end,;

if (post<>0jthen
begin

MemoS.Lines.add(stringling);

end;

end;

eﬁd;

procedure TForm1.Setup1Click{Sender: TObject);
var Command,Params,WorkDirstring;
begin

Form1.Hide;

Form2.Hids;

FormS.Show,

end;

pracedure TForm1.StatusiClick(Sender: TObject):
begin

Form3.3how,
end;
procedure TForm1.Drill1Click(Sender: TObject);
begin

Form1 Hide;

Formz.Hide,

Form&. Show,

end,

procedure TForm1.FormDestroy(Sender: TObject);
begin

end,
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procedure TForm1.FormClose(Sender: TObject);
begin

Application:=ni;
end;

end.
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unit Unit2;
interface

uses

Windows, Messages, SysUtils, Classes, Graphics, Contrals, Forms, Dialogs,
ExtCitrls, StdCitrls, ComCirls;

type

TForm?2 = class(TForm})

Label1: TLabel;

Label2: TLabel;

précedure FormKeyDown(Sender. TObject; var Key, Word;
Shift: TShiftState),
private
{ Private declarations }
public
{ Public declarations 1
end,
var
Formz: TForm2;
impiementation
uses Unit1;

{$R " DFM}

pracedure TForm2 FormKeyDown(Sender: TObject; var Key: Word:
Shift: TShiftState);

begin
if key=VK_ESCAPE then
begin
Form2 Hide;
Form1.Show,
end;
end;

end.
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unit Unit3;
interface
uses

Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,

Menus, StdCtrls;

type

TForm3 = class(TForm)
MainMenu1: TMainMenu;
Printert: TMenultem;
PauseDrilling1; TMenultem;
SetasDefault?: TMenultern;
N1: TMenultem;
propertyt: TMenultem;
N2: TMenultem;
Pauselrilling2: TMenultern;
CancelDrilling1: TMenultern;
Help1: TMenultem;
Aboutt: TMenultem;
Memoi: TMemo;
Memo?2: TMemo;

precedure Pauselrilling 1Click(Sender: TObject);

private

[ Private declarations }

public

{ Public declarations }

end;

var

Form3: TForm3;
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implementation
uses Unitd;
{3R *.DFM}
precedure TForm3.PauseDriiling 1ClIck(Sender. TObject);

var 55:5trhg;

counti:integer,

begin
ss="1"
Count1 = FormS.Comm1 Write(ss[1], Length(ss));
if Countt <Othen
Memot.Lines.add('Error writing to: ' + Form5.Comm1.DeviceName)
else Memoi Lines.add( Transmit'+ IntToStr(Count1) + ' characters);
end;

end.
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unit Unit4;

interface

uses
Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,

StdCirls;

type
TForm4 = class(TForm)
ComboBox1; TComboBox;
ComboBox2: TComboBox;
Button1: TButton;
Button2: TButton,
Button3: TButton;
ComboBox3: TCombaoBox;
ComboBox4: TComboBox;
Edit1: TEdit;
Label1: TLabel;
Label2: TLabel;
Label3: TLabel;
Label4: TLabet;
Label5: TLabsl;
procadure Button1Click(Sender: TObject),
pracedure FormCreate(Sender: TObject);
private
! Private declarations }
public
{ Public dectarations }
end;
var
Form4: TForm4;

Implementation
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uses Unit5;

{$R *.DFM}

procedure TForm4.Button 1Click{Sender: TObject);
begin

rorm4.Hide;

Form®.Show;

end,

procedure TForm4.FormCreate(Sender: TObject),

begin
CombcBox1.ltems. Text="'cbrogd0’;
ComboBox2.Itemns. Text:='da8’;
comboBoxs.ltem‘s.Text:'paNone".
comboBox4.ltems.text;="'sb10",

end,

end.
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unit Units;

Interface

uses

Windows, Messages, SysUtils, Classes, Graphics, Controls, Forms, Dialogs,

ComCtrls, Ex{Ctrls, StdCtrls, Async32,;

type
TForm5 = class(TForm)
Label4: TLabel;
GroupBox1: TGroupBox;
Label5: TLabel;
Labelg: TLabe);
RadioButton2: TRadioButton;
RadioButton3: TRadioButton;
Edit1: TEdit;
Button2: TButton;
Button3: TButton;
GroupBox2: TGroupBox;
Label?: TLabel,
Label2: TLabel;
Labell: TLabel,
Label7; TLabel,
Label8: TLabel;
GroupBox3: TGroupBox;
Editz: TEdit;
UpDown1: TUpDown,;
ComboBox1: TComboBox;
Cormm1: TComm,
Button1: TButton;
Edit3: TEdit;
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Memo: TMemo;

Memo2: TMemo;

Button4: TButton;
procedure Button3Click(Sender, TObject),
procedure FormCreate(Sender; TObject);
procedure RadioButton1Click(Sender: TObiect),
procedure RadioButton2Click(Sender: TObject);
procedure RadioButton3Click(Sender: TObject),
procedure Button2Click{Sender; TObject);
procedure FormBbestroy(Sender: TObject);
procedure FormCIose(Sender: TObject; var Action: TCloseAction);
procedure Cormm1Break(Sender: TObject);
procedure Comm1RxFlag{Sender; TObject);
procedure Comm1 TxEmpty(Sender: TObject),
procedure Comm1CTS{Sender: TObject);
procedure Comm1DSR(Sender: TObject);
procedure Comm1Ring(Sender: TObjact),
procedure Comm1RLSD(Sender: TObject);
procedure Comm Error(Sender: TObject; Errars: Integer);
procedure Button1Click(Sender; TObject);
procedure Button4Click(Sender: TObject);
procedure FormActivate(Sender: TOblect),
private
{ Private declarations )

FCurrentLine: Integer,
procedure HandleExceotion(Sender: TObjact; E: Exception);
public
{ Pubtic declarations }
end,
var
time25:integer;

Form&: TForm§;




TolOr HolSta,HolEnd : integer;
ToolLararray{1..10] of integer,
pracedure DrawBack(milxy:string);

implementation

uses Unit3, Unit1, Unit4, Unit2;

{$R *. DFM}
const

OnOft: array[G.. 1] of string = ('Off', 'On');

procedure TForm&.Button3Click(Sender: TObject);
begin
formS. Hide;
Cornm1.Clcse;
Form3a.Memo1.Lines Add('Device closed; * + Comm1.DeviceName),
Form3 Memoz.Clear,
FCumentLine:=0 ;
Formé&.Close;

end;

procedure TFormb.FarmCreate{Sender, TObject); .
begin
Application.OnException '= HandleException;
ComboBox1. Text:='Drilling Machine V. 1",
Edit1.Calor=clBtnFace;
Edit1.Enabled =false;
comm1.DeviceName:="'com1",
Comm1.BaudRate := TBaudrate(cbrog00),
Commt.Databits ;= TDataBits(dad);
Comm1.Parity .= TParity(paNonej;
Comm1.3topBits ;= TStopBits(st>10);

FCumentLine ;= 0, //prepare receive buffer
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time25:=0,

end;

procedure TForm5.RadioButton1Click(Sender: TObject);
begin

Editt.Color:=clBtnFace;

Edit1.Enabied:=faise;

Edit3.Enabled:=faise;

Edit3.Color.=ciBtnFace;

end;

procedure TFormb.RadioButton2Click(Sender: TObject);
begin

Edit1.Color=clBtnFace;

Edit1.Enabled:=false;

Edit3.Enabled.=true;

Edit3.Color:=cWhite;

end;

procedure TForm%.RadioButton3Click(Sender, TObject);
begin

Edit1.Color:=clWhite;

Edit1.Enabled:=true;

Edit3.Enabled.=false;

Edit3.Color=clBtnFace;

end;

procedure TFormb.ButtonZClick(Sender; TObject),
var

E: Exception;

rs.waord;

3: string;
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Count: Integer,
ifm5,ATooliinteger;
w,v,u, TalN, posSlash,posDat integer,
Buffer:array( 1..32] of char,
lines 12, round,i hS,Bytes,P,nth: integer,
begin

u=0,
ATool=0;
lines:=1;
Memo1.Clear;
Memao2.Clear,
Memo1 text=Form1.Memo4.Text;
comm1.DeviceName:=Form4 Edit1.text;
Atool:=Form1.Memo9.Lines.Count.

try
Comm1.0Open;

except
on E: ECommError do
showmessage(E Message);

end;

for ifm5:=1 to Atool do
begin
ToolLarfifm5}:=StrTolnt(Form1.MemoQ.Lines(ifms - 1]);

end;

if RadioButton3.Checked then
begin
posSlash:=pos(/ Edit1.text};
posDat=pos(-' Edit1.text);
TolN:=StrToint{copy(Edit1.text, 1, posSlash-1));, #
HolSta:=ToolLar{ ToIN}+StrTolnt(copy(Edit1.text, posSlash+1,posDat-posSlash-1));
HolEnd:=ToolLar(TaiN]+StrTolnt{copy(Edit1.text,posDat+1,5));
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and
else if RadioButton2.Checked then
begin
TotN:=StrTolnt{Edit3. Text);
if (TolN>Atool-1)and(TolN<O)then
begin
besp;
ShowMessage('Please retype naw tool”);
Edit3.Clear;
end;
if{TolN>=1)and(TolN<Atool) then
begin
HolSta:=ToolLaf TolN]+1;
HolEnd:=ToolLar[ TolN+1}1;
end;

end

else
begin
HolSta:=ToolLar1]+1;
HolEnd:=ToclLar[Atool]-1;
end :
for w:=HolSta to HolEnd de
begin
[2;={10"Lines)+Lines-1;
if w=10+HoalSta then
begin
Memo?2.Lines.Add({"X0Y0D";
inc{Lines),

end;

i (w=HolSta+2-Lines+1)and(w=>10+Hol3ta) then

begin
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end

else;

MemoZ.Lines. AJdd{'X0Y0");

inc(Lines);

Memo2.Lines.Add(Memo1.Lines[w]),

end;

' MemoQ.Lines.Add('XOYO‘);
Memo?2.Lines. Add('END");

round:=0;

nth:=HolSta;
i e
if (Comm1.Enabled and Comm1.DSR)=False then

begin

end
else

begin

beep;

ShowMessage('Anpraazila port (com1/com2) Hm *);
Comm1.Close;

Form3.Memo1.Lines Add('Device closed: ' + Comm? DeviceName);

Exit

while round < StrTolnt(Edit2 text) do
begin
=0,
While (MemoZ.Linesfi}<>'END") do
begin

5 .= MemoZ.Lines|i;
s = st#13#10;
Count := Comm 1 Write(S[ 1], Length(S));
Form3.Memol.Lines Add('send'+imtToStr

(Count)+'characters');
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if Count =-1 then
tegin
ShowMessage('Error writing to: * + Comm1.DeviceName);
exit
end
glse 5:='"
Filichar(Bufier, Sizeoi(Bufier), O);
Bytes := Comm1.Read(Buffer, Count),
ff————
Form&.Hide;

Form2.5how;

/- —
if Bytes = -1 then
begln

showmessage('Error reading incoming data...");

@xit
end
else
begin
for £ := 0 to Bytes do
case Buffer{P] of
#10:
begin
Form3 MemoZ lines.add(");
Inc(FCurrentLine);
Inc{nth);
if {nth<=HolEnd+ Mand(nth<=Form1.Mema10.Lines.
Count) then

begin
drawback(Form1 Memo10.Lines[nth-17);
end;

end;




B8

#13:begin
end
else

begin

Form3.Memo2.Lines[FCurrentLine] ;=

Form3.Memo2.Lines{FCurrentLing] + Buffer[P];
Form3.Mermo?2. Refresh;
end;
end; /fior
end;//end else ﬂ‘ﬁmﬂﬁm
B=i+1,
end; /iwhile <>'END*
round:=round+1,
if round < StrTolnt(Edit2.text) then
begin

ShowMessage{'Flease change PCB'+IntToStr{round+1));

nth:=Hol5ta;
Form2.refresh;
end;
end;
Form2. Labéff»_’. Font.Color:=ciBlack;
Form?2.Label1.Font.Color:=cIBlack;
end;

Commi1.Close;

Form3.Memao1 Lines.Add('Device closed: ' + Comm1.DeviceName);

ATool=0;

end;

procedure TFormS.FormDestroy(Sender; TObject);
begin
Application.OnException ;= nil;

end;




procedure TFormS.FormClose(Sender: TObject; var Action: TCioseAction);
begin

Comm1.Close;

FormB.Meho1.Lines.Add('Devic:e closed: ' + Comm1.DeviceName);

Form3.Memao2.Clear;

FCurrentLine:=0

Memo1.Clear;

Memo?2.Clear;

Form1.Show;

end;

procedure TForm®S.Comm1Break(Sender, TObject);
begin
Form3.Memo. Lines.add('Break signai defected...”),

end;

procedure TFormS.Comm 1RxFlag(Sender: TObject);
begin
Form3.Memo1.Lines.add({'RxFlag signal detectad,..;

end;

procedure TFormS.Comm1 TxEmpty(Sender: TObiect),
begln
Form3.Memot. Lines.add('TxEmpty signal detected. ")

end,

procedure TFormS.Comm1CTS(Sender: TChiject),
begin -
Forrm3.Memo1 . Lines.add('CTS: ' + OnOfflord(Comm1.CTS)1);

end;

procedure TFormS.Comm1DSR(Sender: TObject),




Pt

80

begin
Form3.Memo1 Lines.add('D3R: ' + OnOfflord(Comm1.DSRY});

end;’

procedure TFormS.CommRing(Sender: TObject);
begin
Form3.Memo1 .Lines.add('RING: ' + OnOff[ord(Comm1.Ring)]);

end;

procedure TForm5.Comm1RLSD(Sender: TObject);
begin
Form3Memo1.Lines.add('RLSD: ' + OnOffford(Comm1.RLSD)]);

end;

procedure TForm&.Comm Emor(Sender: TObject; Errors; Integer);
begin
ff (Errors and CE_BREAK > 0) then
Form3.Memo?1.Lines.add('The hardware detected a break condition.");
if (Errors and CE_DNS = 0) then
Form3.Memo1.Lines.add('Windows 9% only: A parallel device is not selected.”);
if (Errors and CE_FRAME > 0) then
Form3.Memo!.Lines.add({'The hardware detected a framing error.");
if (Errors and CE_IOE > 0) then
Form3.Memo1.Lines.add{'An /O error occuned during cornmunications with
the device.");
if (Errors and CE_MODE > 0) then
begin
Form3.Memo1.Lines.add('The requested mode is not supported, or
the hFile parameter');
Form3.Memo1.Lines.add(’is invalid. Ii this value is specified, it is the only
valid error.");

end;




a1

i (Errors and CE_OOP > 0} then
Form3.Memoi.Lines.add('Windows 85 only: A parallel device signaled that it
is out of paper.');

if (Errors and CE_OVERRUN > 0) then
Form3.Merno1.Lines.add{’A character-buifer overrun has occurred. The next

- characteris lost.');

if (Errors and CE_PTO > 0) then
Form3.Memo1.Lines.add(‘Windows 95 only: A time-out occurred on a paralle!
device.'),

if (Errors and CE_RXOVER > D) then

pegin
Form3.Memo1.Lines.add{'An input buffer overilow has ocecurred.
There is either no'y;
Form3.Memo1.Lines.add{'room in the input buffer, or a character was
recéived after);
Form3.Memo1.Lines.add('the end-of-file (EOF} character.”;

end;

if (Errors and CE_RXPARITY > 0} then
Form3d.Memo1.Lines.add(‘The hardware detected a parity error.');

if (Errors and CE_TXFULL > 0) then

begin
Form3 Memal.Lines.add{'The application tried to transmit a
character, but the output’;
Form3.Merno1.Lines. add{'buffer was full.');

end;

end;

procedure TFormS. HandieException{Sender: TObject; E: Exception);
begin

if £ is ECommError then

with E as ECommError do

ShowMessage('‘Async32 error: ' + Message),
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end;

procedure TFormS.Button1Click{Sender. TObject);

begin
Form3.show;

end;

procedure DrawBack(miixy.string);

var pa,pb,pc,pdinteger;
a,b,c.diinteger;

begin

pa:=pos('a’,milxy);

phi=pos(‘b',milxy);

pc:=pos('c’milxy);

pd:=pos(‘d’, milxy);
a:=StrTolnt(copy(milxy,pa+1,ph-pa-1));

bi=StrTolnt{copy(milxy,pb+1,pc-pb-1));

c:=3trTolnt(copy(milxy, pc+1,pd-pc-1));
d:=StrTolnt{copy(milxy,pd+1,5));
Form?2.Canvas.Pen.Color=cIRed;
Form2.Canvas.Arc(a,b,c.d.0,0.0,0);

end;

procedure TFormS.ButtondClick{Sender: TObject);

begin
Formd.show;

end;

procedure TForm&.FormActivate(Sender; TObject);

begin
Eqitl. Text="
Edit3. Text=",;

Memo1.Clear;
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end;

end.

Memo?2.Clear;
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#include <regs1.h>
#include <string.h>
#include <absacc.h>
#include <stdlib.h=>
finclude <math.h>

#include <stdio.h>

#define Pa  XBYTE [OxEOEQ] /7 /iship 255 port A T
#define Pb XBYTE [OxEOE1] 7~ ifship 255 port B L *
#define Pc XBYTE [OxEOE2]  /* /iship 255 port C *
#define Pcon XBYTE [OXEOEZ] /* #iship 255 register control */

#define LCD_CONTRQL XBYTE{OxEOCO]
#define LCD_BUSY_FLAG XBYTE[0xEQC1]
#define LCD_WRITEDATA XBYTE[OxEQCZ]
#define LCD_READDATA XBYTE[OxEOC3]
#define StartStep 10
#define ZSpeed 400
#define ZstepDrill 50
#define milpermm 39.37007874
#define mmperstep 0.261
#define milperstep 10.27559055
#define ZstepDrill 50
void delay{unsigned int time)
{

unsigned int i;

for(i=0;i < time;i++)

{

}
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void wait_for_lcd_ready (void)

{

while (LCD_BUSY_FLAG & 0x80) i= 0)

{
}

void specified_led{void)
{
LCD_CONTROL=0x38;

wait_for_lcd_ready ():

void clear_lcd(void)

{
LCD_CONTROL=0x01;
Hbitl=1 clear led
/fand cursor goto top left

wait_for_led_ready (),

void cursor_on(void)

{
LCD_CONTROL = Ox0f,

wait_for_lcd_ready ();

}

void cursor_off(void)

{
LCD_CONTROL = 0x0c;

wait_for_lcd_ready ();
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void entry_mode_set(void)

{

LCD_CONTROL = 0x02;

#bit0=0 after put data shift cursor to right

Hbit1=1 after readiwrite dd ram address increaset
wait_for_lcd_ready ();

}

void init_led(void)

{
specified_cd();
cursor_on{);
clear_led();

entry_mode_set(),

void WChar(char ch)

{
LCD_WRITEDATA = ch;
wait_for_fcd_ready():

void gotoxy(unsigned char row, unsigned char cal)
{

if (row == 1) LCD_CONTROL = 0x80+col-1; else
*if (row == 2) LCD_CONTROL = OxcO+cok-1; else

if (row == 3) LCD_CONTROL = 0x90+col-1; slse

if (row == 4) LCD_CONTROL = OxdO+col-1;

wait_for_lcd_ready ();

1
J
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void WCharnxy(unsigned char row,unsigned char col,unsigned char ch)
{

gotoxy(row,col);

WChar(ch),

}

void string_to_lcd {unsigned char row,unsigned char col.char *st)
{
data unsigned char mcol,colfinish,len;
fictear_lcd();
len = strien(st);
colfinish=col+len-1,
if (colfinish > 16) coffinish=16;
for {(mcol=col, mcol<=colfinish; mcol++)
{
WChangy(row,mcol,stmcol-col]);
}

void string_to_lcd32 (char *st)
{
data unsigned char mcol,coffinish,len,i;
xdata char display_|lcd[32];
for (i=0;i<=3%;i++)

{

display_lcd[i}="";

}
len = strlen(st);
if (len=32) len=32;
for (i=0ji<=len-1;i++)

{
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display_lcd[il=st{il;
}

for {(mcol=1; mcol<=16; mcol++)
{
WChang(1,mcol display_lcd[mcol-1]);
]

for (mcol=1; meol<=16;, mcol++)

{

WCharxy(2,mcol display_lcd[ (mcol+18)-1]);

}

woid string_to_lcd32Rotatel eft (char *st)
{

data unsigned char mcol,coflinish,len i temp;

xdata char display_lcdf32];
for (i=0;i<=31;i++)
{
display_ted[il='",
]
len = strien(st),
if (len>32) len=32;
for (i=0ji<=len-1;i++)
{
display_lcd[i}=stli};
3
while (1)
{
string_to_fed32(dispiay_lcd);
temp=display_lcd[0];

{or (i=1;i<x=31;i+1)




{
display_lcd[i-1}=display_lcd[i];
}

display_lcd[31]=temp,
delay(10000),

}

}

void XStop(void)
{
while(1)

{
Pa=0xQ0,

void YStop(void)

{
while(1)

Pb=0x00;

void Z3top(void)
{
while(1)
{
Pc=0x00;
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void Xbackward(int XStepNo)/*Move forward on x axis™/
{
unsigned int Tround XSpeed,i=0;
unsigned int round;
char stepx[2];
round=1;
Tround=XStepiNo/4;
XSpeed=800;
Pa=0x30;
stepx[0]="D",
while(i<XStepNo)
[
if(round<StariStep)
XSpeed=XSpeed-50;
else if{{round>=5tartStep)&&(round<={Tround-StartStep))) Arctation
XSpeed=XSpeed+0;
Pa=0x31,
delay(XSpeed);
4t
if(i<XStepNo)
{
Pa=0x32;
delay{(XSpeed);
j++:
if{i<XStepNao)
{
Pa=0x34;
delay(XSpeed),
[

if (i<XStepNo)

Pa=0x38;
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delay(XSpeed);
i++;

round=round-+1;

lelse

Pa=0x30;
delay(XSpeed);
stepx[0]='C"

W*end if stepd™/

lelse

{
Pa=0x30;
delay(XSpeed);
stepx[0]="B"
Vend if step3*/

Jelse

Pa=0x30;
delay(XSpeed),
stepx[0]="A",
Mrend if step2®/

yrend while*/

Pa=0x30,

Hidelay(XSpeed);

Hstring_to_led{1,1,stepx);

Jrend of Xbackward function */

void Xforward(int XStepNo)*Move backward on x axis®/

{
unsigned int XSpeed,round, Tround,i=0;

char stepx[2];

round=1;
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Tround=XStepNo/4;
XSpeed=800;
Pa=0x30;
stepx[01="D";
while(i<XStepNo)
{
if(round=<StartStep)
XSpeed=XSpeed-5C;
else if((round>=StartStep)&&{round<=(Tround-StartStep)))
XSpeed=XSpeead+0;
else XSpeed=XSpead+&0;

Pa=0x38,
delay(XSpeed);
i++;
if(i<XStepNo)
{
Pa=0x34,
delay(XSpeed);
i++:
{fli<XStepNo)
{
Pa=0x32;
delay(XSpeed),
i+t
if (i<xStepNo)
{
Pa=0x31;
delay(XSp=ed),
i++;

3

round=round+1;

lelse
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Pa=0x30:
delay{(XSpeed);
stepx[0]="C";
Vrend if step@*l
lelse
{
Pa=0x30;
delay(XSpeed);
stepx[0]="B"
W*end if step3*/
lelse
{
Pa=0%30;

- delay(XSpeed);
stepx[0]="A";
¥rend if step2*/

Vrend of while*/
Pa=0x30;
ffdelay(XSpeed);
fistring_to_lcd(2,1,stepx);

Jend of Xforward function®/

void Ybackward(int YStepNo)/*Move forward on y axis™/
{

unsigned int YSpeed,round, Tround, i=0;

char stepy[2];

Pb=0x30;

round=1;

Tround=Y3tephlo/4;

Y Speed=800;

stepy[0]="D",

while(i<YStepNo)
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{
if(round<StartStep)
YSpead=Y Speed-50;
else if{(round>=StartStep)&&(round<=(Tround-StartStep)))
Y3 peed=Y3peed+(;
else YSpeed=YSpeed+50;
Pb=0x31;
delay(YSpeed);
i++;
if(i<YStepNa)
{
Pb=0x32;
delay(YSpeed),
i++:
if(i<Y StepNo)
{
Pb=Cx34;
delay(YSpeed);
i+

if (i<YStepNo)

Pb=0x3§&;
delay (Y Speed);
i+
rounci=round+1;
Jelse

{

Pl=0x30;
stepy[0)='C";
Wend if stepl4™/

lelse
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Pb=0x30;
stepy{0]='B"
} Fend if step3®/
lelse
{
Pb=0x30;
stepy[0]="A',

Yrend if step2*/
Wend while*/
Pb=0x30;
Wend of Ybackward function */

void Yiorward(int Y StepNo)/"Move backward ony axis*/
{
unsigned intY Speed, round, Tround,i=0;
char stepy[2};
Pb=0x30;
round=1;
Tround=YStepNo/4;
Y Speed=800;
stepy[0]='0)",
while{i<Y StepMoj)
{
if(round<StartStep)
YSpeed=Y3peed-50;
else if{(round>=5tariStep)&&(round<=(Tround-StantStep)))
Y Speed=YSpeed+0,
else YSpeed=Y3peed+50;
Pb=0x38;
delay(YSpeed);
i+t

if(i<YStepNo)
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Pb=0x34;
delay(YSpeed);
i++:
if(i<YStepilo)
{
Pb=0x32;
delay(YSpeed),
i++
if(i<¥3StepNo)
{
Pb=0x31;
delay(Y Speed);
P+
round=round+1;
Jelse
{
Pb=0x30,
stepy[01="C,
Wend if stepa®f
Jelse
{
Pb=0%30;
stepy[C]="B"
) Pend if stepa®/
lelse
{
Pb=0x30;
stepy[0]='A"

Vend if step2*/

Jrend while®/
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Pb=0x30;
V*end of Yforward function */
void Zup(int ZStepNo)*Move down on z axis™/
{
unsigned inti=0;
char stepz[2];
Pc=0x00;
stepz[0}1="D",
while(i<ZStepNo)
{
Pe=0x01;
delay(ZSpeed),
j++,
if(i<ZStepNo)
{
Pc=0x02;
delay(ZSpeed);
o+
if{i<Z3tepNo)
{
Pe=0x04,
delay(Z8peed),
i+t
¥ (i<ZStepho)
{
Pc=0x08;
delay(ZSpeed),
i++;
lelse
{
Pc=0x00;
stepz[0])="C",
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Yrend if stepfa™/

Jelse
{
Pc=0x00;
stepz[0]="'B"
1 fend if step3*/
lelse
{
Pe=0x00;
stepz[D]="A";

Wend if step2™/
Wend while™/
Pe=0x00;
fstring_to_ted{1,1,stepz);

Wend of Zup function */

void Zdown(int ZStepNo)Move up on z axis™/
{
unsigned int i=0;
char stepz[2],
Pe=0x00;
stepz[0]='D",
while{i<Z3tepNo)
{
Pc=0x08:
delay(ZSpeed);
i++:
if(i<ZStepNo)
{
Pc=0x04;
delay{ZSpeed);

f++:
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if(i<ZStepNo)
{
Pc=0x02;
delay(ZSpeed);
i+
if (i<ZStepNo)
{
Pc=0x01;
delay(ZSpeed);
i++;

lelse
{
Pc=0x00;
stepz[C]="C",;
end if stepf4™/
Jelse
{
Pc=0x00;
stepz{0]='B";
} fend if step3*/
lelse
{
Pc=0x00;
stepz{0]="A"Y
¥end if step2+/
}*end while™
Pc=0x00;
Histring_to_led(2,1,stepz);

y*end of Zdown function */

void HomeX(void)

{
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unsighed int XSpeed=200;
Pa=0x30;
while(Pa & 0x40 |= 0x40)*check bit for x axis sensor not high */
{
Pa=0x38;
delay(XSpeed);
if(Pa & Ox40 1= Ox40)/*check bit for x axis sensor not high */
{
Pa=0x34;
defay(XSpeed);
if(Pa & 0x40 |= Ox40)*check bit for x axis sensor not high */
{
Pa=0x32;
delay{xSpeed);
f(Pa & 0x40 1= 0x40)*check bit for x axis sensor not high */
{
Pa=0x31;
delay(XSpeed);
Jelse Pa=0x30; fend if 3%
lelse Pa=0x30; fendif2™/
lelse Pa=0x30; fendif 1%
I end while*/
Pa=0x30;
1} fend HomeX?*/

void HormeY(void)

unsigned int Y Speed=200,

Po=0x30;

while(Pb & 0x40 1= Ox40)/"check bit for y axis sensor nat high */

{
Pb=0x38;
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delay(YSpeed);
if(Pb & 0x40 = Ox40)*check bit for y axis sensor not high */

{
Pb=0x34;
delay(YSpeed);
if(Pb & 0x40 I= Ox40)/"check bit for y axis sensor not high */
{
Pb=0x32;
delay(YSpeed);
if(Pb & 0x40 != 0x40)*check bit for y axis sensor not high */
{
Pb=0x31:
delay(YSpeed);
lelse Pb=0x30; fend if 3%
lelse Pb=0x30; fendif 2 */
Jelse Pb=0x30; f*end if 1%/
Jend while®™/
Pb=0x30;
}*end HomeY™/

void HormeZ{void)
{
Pe=0x30;
while(Pc & 0x40 1= 0x40)™check bit for z axis sensor not high */
{
Pc=0x38;
delay(ZSpeed);
if(Pc & 0x40 |= 0x40)/"check bit for z axis sensor not high */
{
Pc=0x34;

delay(ZSpeed);
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if(Pc & Ox40 1= Ox40)/*check bit for 2 axis sensor not high */
{

Pc=0x32;
delay(ZSpeed);
if(Pc & 040 1= Owd0)/*check bit for z axis sensor not high */
{
Pc=0x31;
delay(ZSpeed);

lelse Pc=0x03; /*end if 3*/
lelse Pc=0x30; fendif 2™/
lelse Pc=0x30; f"end if 1%/
W*end while*/
Pc=0x30,
Wend HomeZ*/

void HomeAll(void}
{

HomeX(};
HomeY (),
HomeZ();

}

void Drill(veid)

{
Zdown({ZstepDril));
Zup(ZstepDrill),

}

void Move(int Xstep,int Ystep,int stepcase)

1

switch{stepcase)

{
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case 1. Xforward(Xstep), Yiorward(Y step);break;
case 2: Xforward({Xstep); Ybackward(Ystep});break;
case 3: Xbackward(Xstep); Yforward(Ystep);break;
case 4: Xbackward(Xstep). Ybackward(Ystep).break:

}

void init_serial(void)
{
SCON = 0x52;
PCON = 0x0Q0;
TMOD = 0x20;
TH1 = OxFD;
TR1=1;
}

void main(void)
{
unsigned char mBUF,mess[10],Strdat[20], "pmess Xvalue{15],*pXvalue;
unsigned char Xstrf 10],Ystr[10];
unsigned int ij,Kix.iy;
unsigned int Xint,Yint; finteger value
unsigned int Xprev,Yprev, Xact,Yact; //motor step value
delay(2000);
Pcon=0x80,
init_led(};
init_serial();
Pa=0x00,//Preset Port A
Pb=0x00://Preset Port B
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Pc=0x00;//Preset Port C
strepy(Strdat," "),//Clear Array
strcpy(Xstr,"");
strepy(Ystr," ")
Xprev=0;

Y prev=0;

XactF=0,

Yact=0;

i=0;

=0;

k=0,

clear_lcd();
while(1)
{
whife(RIl=1) //have data?
{
}
Rl = 0, /fget data
mess[0]=8BUF; /Aransfer data from sbuf registar
if{rmess[0)==13)
WChar('X');
if(mess[0}I=10)ls it 's nctend of Line data?
{
F*check only XY and C-9%/
if(mess{0]>="0" && mess{0]<="9"|[mess[0]=="X"||mess[0}=="Y"i| mess[0]=="E")
{
Strdat[k]=mess[Q]; /iget a string of a point
k=k+1;
lelse fif(mess[0]1="E"
{




115

Strdatlk]="",
pmess=Strdat; //Pointer point to the string
if("pmess==X"Yfcheck X
pmess=pmess+1;
while(*pmess>='0' && *pmess<='9")
{
Xstr{ix]="pmess; //get X value in string
pMess=pmess+1;
i=ix+1;
}
H(*pmess=="Y")/fcheck Y
pmess=pmess+1;
while(*pmess>="0'&& *pmess<="'9")
(
Ystrlyl="pmess;//check Y value in string
pmess=pmess+1;

fy=iy+1;

Astr[ix]=0,
Ysir[iyl=0;
Xint=atoi(Xstr).//get X value in integer
Yint=atoi(Ystr),/get Y valus in intager
if(Xint>Xprev)
{
Xact=Xint-Xprev,
if(Yint>prev)
{
Yact=Yint-Yprev;
Move(Xact,Yact, 1),
jelse{
Yact=Yprex-Yint;
Move(Xact Yact,2);
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lelse

Xact=Xprew-Xint;
if(Yint>Yprev)
{
Yact=Yint-Yprey,
tove(Xact Yact.3);
lelse {
Yact=Yprav-Yint;
Move(Xact,Yact,4);
}
}
delay(500);
if (Xact I=Xprev &8 Yact |= Yprev)
{
Orilld);
delay(500);
printf("Xs6dY % d\n" Xint, Yint); /Sent 1o Interface Prograrn
lelse printf (X %dY%d\n".Xint, Yint);
Xprev=Xint;
Y prev=Yint,
k=0
ix=0,
iy=0;
}






